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Message

Remembering the words of John Dewey, “Education is not preparation for life,
education. is life itself”, I highly commend the sincere efforts of the officials
and subject experts from Directorate of Education involved in the development
of Support Material for classes 1X to XII for the session 2022-23.

The Support Material is a comprehensive, yet concise learning support tool to
strengthen the subject competencies of the students. I am sure that this will
help our students in performing to the best of their abilities.

[ am sure that the Heads of Schools and teachers will motivate the students to
utilise this material and the students will make optimum use of this Support
Material to enrich themselves.

I would like to congratulate the team of the Examination Branch along with all
the Subject Experts for their incessant and diligent efforts in making this

material so useful for students.

I extend my Best Wishes to all the students for success in their future
endeavours.

A

(Ashok Kumar)
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HIMANSHU GUPTA, 1As

Director, Education & Sports

MESSAGE

“A good education is a foundation for a better future.”
- Elizabeth Warren

Believing in this quote, Directorate of Education, GNCT of Delhi tries
to fulfill its objective of providing quality education to all its students.

Keeping this aim in mind, every year support material is developed for
the students of classes IX to XII. Our expert faculty members undertake the
responsibility to review and update the Support Material incorporating the
latest changes made by CBSE. This helps the students become familiar with
the new approaches and methods, enabling them to become good at problem
solving and critical thinking. This year too, I am positive that it will help our
students to excel in academics.

The support material is the outcome of persistent and sincere efforts
of our dedicated team of subject experts from the Directorate of Education.
This Support Material has been especially prepared for the students. I
believe its thoughtful and intelligent use will definitely lead to learning
enhancement.

Lastly, I would like to applaud the entire team for their valuable
contribution in making this Support Material so beneficial and practical for

our students.

Best wishes to all the students for a bright future.

(WD

(HIMANSHU GUPTA)
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THE CONSTITUTION OF
INDIA

PREAMBLE

WE, THE PEOPLE OF INDIA, having
solemnly resolved to constitute India into a |
'[SOVEREIGN SOCIALIST SECULAR
DEMOCRATIC REPUBLIC] and to secure
to all its citizens :

JUSTICE, social, economic and |
political;

LIBERTY of thought, expression, belief,
faith and worship;

EQUALITY of status and of opportunity;
and to promote among them all

FRATERNITY assuring the dignity of |
the individual and the ’*[unity and | |
integrity of the Nation]; :

IN OUR CONSTITUENT ASSEMBLY |
this twenty-sixth day of November, 1949 do |
HEREBY ADOPT, ENACT AND GIVE TO |
OURSELVES THIS CONSTITUTION.

1. Subs. by the Constitution (Forty-second Amendment) Act, 1976, Sec.2,
for "Sovereign Democratic Republic” (w.e.f. 3.1.1977)

2. Subs. by the Constitution (Forty-second Amendment) Act, 1976, Sec.2,
for "Unity of the Nation" (w.e.f. 3.1.1977)
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Part IV A (Article 51 A)

Fundamental Duties

It shall be the duty of every citizen of India —

(a)

(b)

(c)
(d)

(e)

(H
(2

(h)
(¥
)

*(k)

to abide by the Constitution and respect its ideals and institutions,
the National Flag and the National Anthem;

to cherish and follow the noble ideals which inspired our national
struggle for freedom;

to uphold and protect the sovereignty, unity and integrity of India;

to defend the country and render national service when called
upon to do so;

to promote harmony and the spirit of common brotherhood amongst
all the people of India transcending religious, linguistic and regional
or sectional diversities; to renounce practices derogatory to the
dignity of women;

to value and preserve the rich heritage of our composite culture;

to protect and improve the natural environment including forests,
lakes, rivers, wildlife and to have compassion for living creatures;

to develop the scientific temper, humanism and the spirit of inquiry
and reform;

to safeguard public property and to abjure violence;

to strive towards excellence in all spheres of individual and
collective activity so that the nation constantly rises to higher
levels of endeavour and achievement;

who is a parent or guardian, to provide opportunities for education
to his child or, as the case may be, ward between the age of six
and fourteen years.

Note:

The Article 51A containing Fundamental Duties was inserted by the Constitution
(42nd Amendment) Act, 1976 (with effect from 3 January 1977).

*(k) was inserted by the Constitution (86th Amendment) Act, 2002 (with
effect from 1 April 2010).

(ix)
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Suggested Question Paper Design
Economics(Code No. 030)
Class XII (2021-22)

March 2019 Examination

Theory: 80 Marks + Project: 20 Marks Duration: 3 Hours
S. . Very Short Short Short Long OTBA Duration 3 hrs.
No. | Typology of Questions Al\r/}scvger Answer I | Answer IT | Answer | 5 Marks Marks %

1 Marks (3 Marks) | (4 Marks) | 6 Marks
1 Remembering- (Knowledge based Simple
recall questions, to know specific facts,
terms, theories, identify, define, or recite, 2 — 2 2 — 22 27%
information)
2 Understanding- (Comprehension to be
familiar with meaning and to understand
conceptually, interpret, compare, contrast, 2 1 2 1 — 19 24%
explain, paraphrase, or interpret
information)

3 Application- (Use abstract information in
concrete situation, to apply knowledge to
new situations; Use given content to 2 1 1 1 — 15 19%
interpret a situation, provide an example, or
solve a problem)

4 High Order Thinking Skills-(Analysis &
Synthesis- Classify, compare, contrast, or
differentiate between different pieces of
information; Organize and/or integrate 1 1 1 1 — 14 17%
unique pieces of information from a variety
of sources)

5 | Evaluation- Appraise, judge, and/ or
justify the value or worth of a decision
or outcome, or to predict outcomes 1 1 — 1 — 10 13%
based on values)

Theory

Total 5x1=5 9x3 =27 3x4=12 | 6x6=36 |2x5=10 80+20 100

projects =100
Marks

o There will be internal choice in questions of 3 marks, 4 marks and 6 marks in both sections (A and B).
o (Total 3 internal choices in section A and total 3 internal choices in section B).
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Modal Question Paper -II
Class XI
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Common Anual School Examination
Class XI
SUBJECT: ECONOMICS

Time: 3 HRS M.M.80
General Instructions:

1.
2.
3.

All Questions in both sections are copulsory.
Marks for questions are indicated againest each questions.

Questions No 1-4 and 13-16 are very short Answer question carrying 1 mark
each. They are required to be answered in one sentenc.

Questions No 5-6 and 17-18 are very short Answer question carrying 3 marks
each. Answer to them should not normally exceed 60 words each.

Questions No 7-9 and 19-21 are very short Answer. Question carrying 4 marks
each. Answer to them should not normally exceed 70 words each.

Questions No 10-12 and 22-24 are long Answer. Question carrying 6 marks
each. Answer to them should not normally exceed 100 words each.

Answers should be brief and to the point and the above word limit be adhered to
as far as possible.

)P\ RV Y f\&

Ul vLum‘Zdvﬁ_ugdjuawyNLﬁ? U (i)

5EL 261 A 1l e Ul 12 52T 16 134 LAl (i)

_g‘_gtnuﬁ

A EWI60 1261 673Ul e e d s 1227 18 17 6 5 Al (i)

el

U026 1§ Al e Il 1257 e 190927 Ay (i)
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SWN00 12601 KA 6UIr -t e Ud b2 # 24 22012104 ()

_%gtnuﬁ
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Micro Economics
1. What are the characteristics of resources which causes economic problem. 1

_@&%KJ/PL?WXUZQ’/JE{GMJJ/M

2. At any level of output marginal Revenue (MR) is equal to the price. Average
Revenue (AR). 1

(a) Increase with the increase in output.

(b) Increase in first stage and them start decreasing.
(c) Remain same at every level of output.

(d) Remain more then marginal Revenue (MR).

:JV»)!-9414£¢§J’Lf&?%ifu{ﬁ’!%
~eton AL LIl (2)

e bl fn At AT ()
_‘a%/ul/..(/?i//:ucbhgg (c)

,‘Llﬁz/u&k'_d'llf&lfb (D

3. When marginal cost (MC) is minimum then. 1

(@) MCisequal to AC.
(b) TC is maximum.
(c) ACis minimum.
(d) TC is constant.

:?‘Lt“nfc;{c«@élfb.,z
L AC< bwslzMC (2)
< twoslie o TC (b)
‘at'nﬁ;,../up:AC (c)

< b6 TC (D
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5.

6.

Supply curve shifts rightward in case of. 1

(@) Increase in the price of commodity
b

(b)  Increase in the price of related goods
(c)  Decrease in the price of inputs.
(c)

Decrease in the number of firms.
e L”n_bﬁ../’lgqf/buﬁui'tad/f/w
AL LIt Ut SE ()

C

AL ity § ke (b)
AL EuEE(UFNLT (o)
AL (@
Explain the central problem of an economy " for whom to produce". 3

BTN G (- At 215 SIS o

A consumer buys 40 units of a good at a price of Rs 10 per unit. How many units
the consumer will buy at a price of Rs 11 per unit if price elasticity of demand
for the good is (-1.5) Calculate. 3

Floy (618 21128 Sulba b AUEEI0 L, K18 2100 Lol

_“éb,«y;‘a(—l.5)@}’&4’?JJLULV/1(@¢]UQ’K!

OR

How does "Availability of substitutes" affects the price elasticity of demand of a
commodity? Explain with example.

L v Ut LB e d L S

What is the meaning of monotonic preferences? Explain why higher indifference
curve shows higher level of satisfaction. 4

e ST RIS RS B IS 2ol R UL
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8. What is short run? In which phase of law of variable proportions a rational
producer will operate in the short run? 4

‘.(2.05/@:/Klglufa,«/’%m&ﬂm.guﬁ@/kfﬁﬁuiﬁ'éqﬁf?ujjd/iax/ﬁ

9. Explain the implications of freedom of entry and exit of firms? 4
_EE o (OWIL G TSt L ur)
OR
Distinguish between perfect oligopoly and imperfect oligopoly.
~e b0 e S| S Z SAS E il S5

10. Where is a nagative relationship between price of a commodity and quantity

demanded-Explain the statement with the help of utility analysis method. 6
ol iy Feobiiay Mo te e P sl ASUsed Sl

11. What is producers equilibrium? Explain the conditions of producers of

equilibrium with the help of a numerical example 6

-é& U}JQ?J@J’?&/ Kl,i.gc;ud/uﬂb"*dw?ba yﬂjjl?/?hgg

OR

What is the meaning of supply function? Explain any four determinants of
market supply.

-é&U}J/V/k&/&y/dﬂ/'@?‘awQ’/{Jié,w/

12. How are equilibrium price and equilibrium quantity of a commodity gets
affected, when number of firm producing the good changes 6

IS U Al S Lol oate du U A U sy et Sl

e ldndw
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A a i 3
13. Who is known as father of father of stastistics? 1
S bbbl e
14. What do you mean by mixed sampling? 1
U édl{(b: Te S Kb
15. Grouping method of mode when taken into use? 1
¢‘¢VGLUJJW1JQ/VQ)/;@’C’(

16. A consumer price index measures which change? 1

"‘Ll‘,‘/(f/kj,d/&ﬁ 1/@"1.’;‘.‘2.5/[4(3/

17. What are the limitations of statistics? 3

U y;},wé e lE

18. If the arithmatic mean of data given beleow is 28, find the missing friquency of
the series? 3

,gfg()b”}l?éné;;JZ/?+28bﬁlQVK/?»Lwléé_)éﬁ

Profit per retail shop
. 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60
(L6863
Number of Shops
- . ?
()l,«:’d/uié) 12 18 27 : 17 6
(L)OR

Mention any three merits and demerits of median?

£t LU bl A 39S s

19. Distinguish between primary and secondary data. list at least three sources of
secondary data? 4

0 I CUSE L Seia §96_ Ooend sslel §9m$ Ay
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20. What do you mean by pie diagram? Discuss the steps involved in its

constructions

0 o s BIE L b5y 2 e U Te 113 )

21. Draw a lorenz curve from the following data:

-k f)‘l/ﬂc/ Fas w‘J“}.?/,U-'

Define histogram and construct a histogram from given data.

Income
. 5 15 25 35 45
QT
Number of People
J’A;"d/uﬂ 8 10 14 10 8
(L)OR

e bpr i die ol 2 sng s 51 i

Age in months
40-60 | 60-80 | 80-100 | 100-120 |120-140 |140-MXM
(Ut
Matality
e 11 15 13 7 7 2
C/UQ-/

21. What do you mean by index number? Explain the types and uses of Index

Number.

_“éo?l.fnd/;uUW’/}’W‘DJ/{/@’?UZg‘wg.,:jc'_/,}cum

Find out the Index of prices for the year 2017 through the following methods

from the following data.
(a) Laspayer's Method
(b) Paasche's Method
(c) Fisher's Method

(L)OR
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?“épb’”:u@’gu}’.‘?d/m)l7(_)Véu’éU}?.)J“)’@/}c'_/?))w’d}g/ﬂ
2L D)

47 (©

Base Year J LU Current Year J Ul
Item Price Quantity Price Quantity
4 4 S 4 S

A 2 8 4 6

B 5 10 6 5

C 4 14 5 10

D 2 19 2 15

23. A batsman is to be selected for a cricket team. The choice is between X and Y on the

basis of their five previous scores which are 6
X 25 85 40 80 120
Y 50 70 65 45 80

Which batsman should be selected if we want:
(@) A higher run getter

(b) A Most reliable batsman in the team

SGEAL L5 2 T Yend Y X B e b G (12 L Ee s

:u"t,:ﬁ‘at/
X 25 85 40 80 120
Y 50 70 65 45 80
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s S
ity (2)
S ere s ooty (D)
24, Calculate the rank correlation from the following data: 6
A8 d@(_.c s SN S 5 osir
X 75 88 95 70 60 80 81 50

Y 120 134 150 115 110 140 142 100
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Common Anual School Examination (2021-2022

Class XI
SUBJECT: ECONOMICS

Time: 3 HRS M.M.80

General Instructions:
1. All Questions in both sections are copulsory.
2. Marks for questions are indicated againest each questions.

3. Questions No 1-10 and 18-27 are very short Answer question carrying 1 mark
each. They are required to be answered in one word or one sentence each.

4.  Questions No 11-12 and 28-29 are very short Answer question carrying 3 marks
each. Answer to them should normally not exceed 60 words each.

5. Questions No 13-15 and 30-32 are also short answer question carrying 4 marks
each. Answer to them should normally not exceed 80 words each.

6. Questions No 16-17 and 33-34 are long answer question carrying 6 marks each.
Answer to them should normally not exceed 100 words each.

7. Answers should be brief and to the point.

] P\ RV Y f\;

e UL U )

_Glss VYA Uy ()

Lre S ANt e b2 A7 27 18101 A (i)
—g- bl R LiLs L1261

Ll e e 673U po Ut e Urd 1247 28 292 11 Al (i)
—& bt BBIB0L P12

L Fe 6 4t e b2 AT SE 322 30011513 Ay (v)
—e Lt 80 L 126l

L e 66U p o U b1z f P F 34 3317 16 Al (vi)
&Lt s sI00L FoizeU

~g bl Jb LTtz (Vi)
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A- oS
Marks obtained by five students are 2, 8, 6, 4 and 10. Calcuate mean. 1
@ 38 (b) 7
(c) 6 (d) None of these
1014, 6, 8, 22 AL L Mol LG
7 (b 8 (a)
St @ 6 ©

OR

Mean deviaiton is calulated by which of the following?
(@) Median (b) Correlation
(c) Mean (d) Both (a) and (c)

?‘L&@JJJJV]L/}léﬁiﬁc’uﬁJ}@u

Er o Sl (@

U (0) 4 @) (d) bl (c)
How does mid value calculated? 1
?‘43%0(4(%;@/5&&w
Write one demerit of median. 1
~ K603 s

State the formula for calculating quartile deviation. 1
s A pSens
Calculate range from 10, 12, 15, 22, 30, 35, and 40.

S e UsA 40, 35,30,22,15,12,10

Which of the following is geometric from of graphical presentations? 1
(a) Pie diagram (b) Histogram
(c) Polygon (d) None of these
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10.

11.

12.

e FUHrd B ol St s

DL AEsd @
S @ 3 ©
Which of the following is weighted index number? 1
> RW
(a) Pol = YW (b)  Paasche
(c) Lapeyers (d) All of the above
?‘aﬁ)d/bﬁ’&yzﬁufuﬁgf“5@/)
> RW
£ MW @
Flesr (@) AL ()
Define weighted mean. 1
_:éuy.@/.}dl/ﬂ&lf})
Standard daviation is based on all the items of a series. (True of False) 1
(blﬁ/é’d) -‘L&n{u;A(VL’{/)QJJVLP»
Second quartile is also called. oo, (Mode or Median) 1
(:;w/,,k,::t‘?/) _‘QL"L?L?KUQ/ ----------------------------- /J/B’/l/;/»
Write any three merits of median. 3
SN
OR
B AT
Present the following data by histogram and frequency polygon cure. 3
Weges Number of workers
10-20 5
20-30 12

Economics-XII



13.

14.

15.

30 - 40 15
40 - 50 27
50 - 60 14
60 - 70 4
e 6§ B e e el f 3
=7 SIS
10-20 5
20 - 30 12
30 - 40 15
40 - 50 27
50 - 60 14
60 - 70 4
Explain any four components of a table. 4

el §1ze G e
OR

Explain the importance of statistics in economics.

_“éww}u(%lu(c«&/?uﬁagbf

Write the limitations of index number. 4

Explain the concept of:
(a) Class interval

(c) Consumers

_4%»&().[(1}&//,}:/@1

(b) Tally Bars

(d) Individual series
BRSNSy ST

s ) 506 @

AP @ e (0
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16.

17.

Calculate standard deviation. 6
Class interval frequency
20 - 40 3
40 - 60 6
60 - 80 20
80 -100 12
100 - 120 9
EA ) e
S 9
20 - 40
40 - 60 6
60 - 80 20
80 - 100 12
100 - 120 9
Describe four problems facing in the construction of index numbers. 6

-é&LZ}UKJ/L//&LDLTLEJ:L&/:‘;/W

OR

Calculate Spearman's coefficient of rank correlation.

E IS AL F

X Y
46 30
56 60
39 40
45 50
54 70
58 70
36 30
40 50
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18.

19.

20.

21.

22.

23.

Section-B (Micro Economics)
(ag’b«‘d)'].)

Define Micro Economics. 1
,gfguybé{/?d/alfb*dfi.
Give definition of market demand. 1

ANy ]

OR
Write the meaning of elastic demand. 1
-éuk--f?/;Jng
P,Q, + P,Q, < Mis equation - (Budget line or Budget set)

(ereil et ebl-§U” PQ, +P,Q, < M
What do you mean by imperfect oligopoly? 1

S sl J_,Tc;d/uuwdrzd“fé
When total utility increases then marginal utility oo
(a) Remains constant (b) Decreases

(e) Increses (d) None of these

........................ %;Siélj‘;b e (§ ”/.Q“;Gl‘)i:,},

¢

-
vk “, 7

< (b) Ed (a)
S <P ©

In which market, demand curve of a firm is indeterminate. (Choose correct

alternative) 1
(a) Perfect competition (b) Monopoly
(c) Oligopoly (d) None of these
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24.

25.

26.

27.

28.

29.

(EEREE) e Gr v it

Lf/’)v/lg’ (b) é’ﬁ’t/d{ (a)
S @ Skl (©)
What do you mean by break-even point? 1

e L
In case of market equilibrium, market demand is greater than market supply.
(True of False) 1

(wgg ) ‘aém;g;‘;yuug:JA;gu:wf&u;r?/ug

Which of the following factor does not effect the supply? 1
(a) Price of inputs (b) Advancement in technology
(c) Income of consumer (d) All of the above

St U S S e

s ) =Edunls @
Ser @ LTl (0
State the meaning of average variable cost. 1
S S
Why does production possibility curve downward slopping? 3
OR

St Vs 33 MIZ G2k
Explain the problem of "How to produce".

,éo}l.hd/ﬁ“é.l.pgﬂ&d:”
What is maximum price ceiling? State its two impacts. 3

_“é_wu,uﬂ)u’fviun.,f/,«,;}tggw&w?%g/d ST
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30.

31.

32.

33.

34.

State the meaning of indifference map. Why does indifference curve convex
to the point of origin? 4

Ce by e T ISk o Ut IS e

Differentiate between fixed cost and varialbe cost. Give two examples

of each. 4
?‘é;u"fd%pﬁgﬁ‘éibdﬂywé :«@[?'»l:z@f/'l?
OR

Defferentiate between fixed factors and variable factors of production. Give two
examples of each.

_é)fu’jlf’*»Jbgﬁ_éilﬁu”)ufJ’f/é%}lJlff/'G'LJM&,

Explain the implication of perfect knowledge about the market under
perfect competition. 4

Y wb:Ja!jléH‘J{L/U@uf:ﬁ{VJ{
Explain briefly the three determinants of demand of a commodity.
6

NEQSNIN G Y B AT NS ARt

The following statements are true or false? Give reasons. 6
(i) Difference between average cost and average variable cost always remains
constant.

(ii) Total cost will increase when marginal cost increases.

(iii) As the production is increased, the difference between total cost and total
variable cost decreases.
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TIME: 3HOURS

SAMPLE QUESTION PAPER (2022-2023)
ECONOMICS (030)  CLASS 12

GENERAL INSTRUCTIONS:

1. This question paper contain two sections:
Section A- Macro Economics
Section B - Indian Economic Development
2. This paper contain 20 Multiple Choice Questions type questions of 1 mark each.
3. This paper contain 4 Short Answer Questions type questions of 3 mark each to be
answered in 60 to 80 words.
4. This paper contain 6 Short Answer Questions type questions of 4 mark each to be
answered in 80to 100 words.
5. This paper contain 4 Long Answer Questions type questions of 6 mark each to be
answered in 100 to 150 words.
Q.NO. SECTION A - MACRO ECONOMICS MARKS
1. |Read the following statements carefully:
Statement 1 : The Consumption curve is an upward sloping
straight line curve due to the direct relationship between income
and consumption and the assumption of constant Marginal
Propensity to Consume.
Statement 2: Aggregate Demand curve and Consumption curve
are parallel to each other. 1

M.M-80

In the light of the given statement, choose the correct alternative
from the following:

a) Statement 1 is true and Statement 2 is false.

b) Statement 1 is false and Statement 2 is true.

¢) Both statement land 2 are true.

d) Both statement 1and 2 are false.




'Owing to the Russia- Ukraine crisis , the world is experiencing
rising crude prices due to supply - side issues.'
a) Production of cars in India will rise.
b) production and sale of cycles in India will rise.
¢) Inflow of US Dollars in India will rise.
d) Outflow of US Dollars from India will rise.

..................... is an institution that accept deposits for lending
purposes. (Fill in the blanks with correct alternative)
a) Commercial Banks b) Life Insurance Corporation
¢) Reserve Bank of India d) Government of India

Read the following statements carefully:
Statement 1: Export of financial services by India will be
recorded on credit side of current account.
Statement 2: Foreign Direct Investment in India will be recorded
on credit side of capital account.
In the light of the given statement, choose the correct alternative
from the following:

a) Statement 1 is true and Statement 2 is false.

b) Statement 1 is false and Statement 2 is true.

c) Both statement 1and 2 are true.

d) Both statement 1and 2 are false.

Read the following statements carefully:
Statement 1: Net investment is a stock concept.
Statement 2: Capital is a flow concept.
In the light of the given statement, choose the correct alternative
from the following:

a) Statement 1 is true and Statement 2 is false.

b) Statement 1 is false and Statement 2 is true.

c¢) Both statement land 2 are true.

d) Both statement 1and 2 are false.

OR

Read the following figure carefully and choose the correct pair
from the alternatives given below:

Economics-XII



)

NATIONAL
GENERATION PHASE
NATIONAL INCOME
NATIONAL EXPENDITURE F

DISTRIBUTION PHASE
Alternatives:
a) Output, Production
b) Value added, Production
c¢) Output, Disposition
d) Wealth, Development

If in an economy, the value of investment multiplier is 4 and
Autonomous Consumption is Rs 30 Crore , the relevant
consumption function would be:

a) C=30+0.75Y b) C=(-)30+0.25Y

c) C=30-0.75Y d) C=30-0.25Y

OR

If increase in National Income is equal to increase in consumption
, identify the value of Marginal Propensity to save:

a) Equal to unity b) Greater than one

¢) Less than one d) Equal to zero

Money supply in India may increase if,.................. (Choose the
correct alternative)
1. Reserve Bank of India (RBI) injects more money in circulation
2. The commercial banks expand their credit operation.
3. Tax rates are reduced by the Central Government.
4. Reserve Bank of India increases the Bank Rate.

Alternatives:
a)1,2 and 3 are correct b) 2,3 and 4 are correct
¢) 1,3 and 4 are correct d) 1,2 and 4 are correct

N
= |
-
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Suppose, following data is presented, for an imaginary economy: 1
(all figures in Rs 000 Crore)
Year Visible Exports Visible Imports
2010 280 240
2020 580 460
Identify which of the statement about the period 2010 to 2020 is
correct?
a) Improvement in balance of trade.
b) Increase in trade deficit
c) Improvement in balance in invisible items
d) Deterioration of balance of trade
OR
The following information is given for an imaginary country:
Current Account Amount (in Rs 000 Crore)
Visible Exports 100
Visible Imports 150
Invisible Exports 70
Invisible Imports 30
Net current transfer balance 15
Balance on current account will be............... Of Rs .oouvveennnn,
thousand Crore.
a) Deficit, 10 b) Surplus, 5
¢) Deficit, 5 d) Surplus, 10
Read the following statement - Assertion (A) and Reason (R) . 1

Choose one of the correct alternatives given below:
Assertion (A): Ex - Post Investments represent planned
Investments; Where ex - ante Investment represent actual level of
investments.
Reason(R): At equilibrium level, Ex ante Saving and Ex ante
Investments are always equal.
Alternatives:
a) Both Assertion (A) and Reason (R)are true and Reason (R) is
the correct explanation of Assertion (A).
b) Both Assertion (A) and Reason (R)are true and Reason (R) is
not the correct explanation of Assertion (A).
c¢) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.
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10.

Read the following statement - Assertion (A) and Reason (R) .
Choose one of the correct alternatives given below:
Assertion (A) : Saving curve makes a negative intercept on the
vertical axis at zero level of income.
Reason (R) : Saving function refers to the functional relationship
between saving and income.
Alternatives:
a) Both Assertion (A) and Reason (R)are true and Reason (R) is
the correct explanation of Assertion (A).
b) Both Assertion (A) and Reason (R)are true and Reason (R) is
not the correct explanation of Assertion (A).
¢) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.

11.

Suppose in a hypothetical economy there are only two firms A and
B, Firms A sold goods for Rs2,000 to Firm B and purchased goods
for Rs 1000,. Firm B exported goods for 2,500 and had domestic
sales of Rs 1,500 . Calculate Net Domestic Product at market
price, if consumption of fixed capital is Rs 200.

12.

Explain, how exchange rate is determined under a free market
exchange rate system.

OR
Distinguish between autonomous and accomodating transaction in
Balance Of Payments Accounts.

13.

If an economy plans to increase its income by Rs 2,000 crore and
the Marginal Propensity to Consume is 75% . Estimate the
increase in investment required to achieve the targeted increase in
income.

14.

As per the following news published in The Economic Times on
26th December,2021:

'Reserve Bank of India has sold government securities worth
Rs8,710Crore in the secondary market,over the last four weeks, to
drain out excessive liquidity .

Identify the likely cause and the consequences behind, this type of
action plan of the Reserve Bank.

N
= |
W
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15.

Read the following text carefully, briefly the relevant function of
the Central Bank , indicated:
Recently, Reserve Bank of India (RBI) conducted a statutory
inspection for supervisory evaluation against a Commercial Bank.
The Commercial bank was imposed with stringent penalties, owing
to deficiencies in regulatory compliances.
As per the Central Bank, the inspection revealed non- compliances
vis -a vis different directions issued by RBI, on the following
fronts:

i. ATM Card frauds

ii. Ensuring integrity and quality of data

iii. Loans to small borrowers (Adapted/moderated-livemint.com)

OR

'Reserve Ratio and Credit Creation are inversely related.' Do you
agree with the given statement? Justify your answer with a suitable
numerical examples.

16.

a) Define Gross Domestic Product (GDP) deflator and discuss it's
importance.
b) State and discuss any two precautions to be considered while
estimating national income by Expenditure Method.

17.

a) Compare trends depicted in the figures given below:

Figure 1: Trends in Fiscal defickt and Figure 2 Fincul deficit as a per cent of
primary deficit

-

o¥83888288

As a per cont of BE

Fiscal Deficit Priovary Deflcin

& Apr-Nov 2019 & Apr-Nov 2020 @ Age-Nov 2021

Source: COA Monthly Acvounts
b) Elaborate the objective of ‘allocation of resources' in the
Government budget.
OR
a) Distinguish between revenue receipts and capital receipts of the
government, with suitable examples.
d) Distinguish between direct and indirect taxes, with suitable
examples.
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SECTION - B- INDIAN ECONOMIC DEVELOPMENT

18.

Identify, which of the following indicates the adverse impact of
British rule in India.
a) Introduction of communication network in India.
b) Change in composition of India's foreign trade.
c¢) Introduction of modern administrative system in India.
d). Introduction of railways in India.

19.

................ committee was set up for the development and
promotion of small scale industries in India.

a) Karve b) Tapas majumdar

c) Mahalanobis d) TRYSEM

OR

First Industrial Policy Resolution of Independent India was
announced in the year................. (Fill in the blank with the correct
alternative)

a) 1947 b) 1948

c) 1951 d) 1956

20.

.......... and..............are the reasons for the slowdown of Pakistan
economy since independence.
I) Political instability
II) Over - independence on remittances from abroad.
[1I) Stable performance of agriculture sector.
IV) Growth of service sector.
Alternatives:
a) Iand II b) II and III
¢) Il and IV d) I and IV
OR
'GLF ' with respect to the People 's Republic of China referred to
AS.eereerreenreenreennes (Choose the correct alternative.)
a) Giant Leap Forward b) Great Led Forum
c) Great Leap Forward d) Giant Led Forum

21.

Identify which of the following is a source of non-institutional
credit in the rural areas on India.

a) NABARD b) Regional Rural Banks

c) Money Lender d) Commercial Banks
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22.

From the set of the events given in Column I and corresponding
fact given in Column II, choose the correct pair of statement:

COLUMN I COLUMN II

i. |Dual Pricing A.|Economic Reforms of 1991
ii. |Setting up Special B.|To attract foreign Direct
Economic Zones in China Investment

iii. |Commune System C. |Backyard based Industrial
production units

iv. | Great Proletarian Cultural | D.|Collective Farming

Revolution

Alternatives:
a)i-A b) ii-B
¢) iii-C d)iv-D

23.

Read the following statements carefully.
Statement 1: On - the job training help to bridge a gap between
theoretical concepts and practical experiences.
Statement 2: On the job trainings update the employees, with the
latest changes in their work field.
In the light of the given statement, choose the correct alternative
from the following:

a) Statement 1 is true and Statement 2 is false.

b) Statement 1 is false and Statement 2 is true.

c¢) Both statement land 2 are true.

d) Both statement 1and 2 are false.

24.

Read the following statements carefully.
Statement 1: Both India and Pakistan initiated their economic
reforms with out any external pressures.
Statement 2: Pakistan has successfully implemented the SEZ
policy and reaped benefits using the Export Promotion policy .
In the light of the given statement, choose the correct alternative
from the following:
a) Statement 1 is true and Statement 2 is false.
b) Statement 1 is false and Statement 2 is true.

)
c¢) Both statement 1and 2 are true.
d) Both statement 1and 2 are false.
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25.

..................... is not a cause for environmental degradation.
a) Waste management
b) Deforestation
c) Global warming
d) Guarding green cover
OR

................ is not the strategy for Sustainable Development.(Choose
the correct alternative)

a) Use of bio- gas

b) Use of solar power

c) Use of thermal power

d) Use of hydel power

26.

Read the following statement - Assertion (A) and Reason (R) .
Choose one of the correct alternatives given below:
Assertion (A): Unemployment and poverty are inseparable twins.
Reason(R): Unemployment is the root cause of all socio -
economic evils.
Alternatives:
a) Both Assertion (A) and Reason (R)are true and Reason (R) is
the correct explanation of Assertion (A).
b) Both Assertion (A) and Reason (R)are true and Reason (R) is
not the correct explanation of Assertion (A).
¢) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.

27.

Read the following statement - Assertion (A) and Reason (R) .
Choose one of the correct alternatives given below:
Assertion (A): In the late 1970s , China's population growth rate
had sharply declined .
Reason(R): China has witnessed an increase in the proportion of
elderly people owning to stringent family planning programmes.
Alternatives:
a) Both Assertion (A) and Reason (R)are true and Reason (R) is
the correct explanation of Assertion (A).
b) Both Assertion (A) and Reason (R)are true and Reason (R) is
not the correct explanation of Assertion (A).
¢) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.

217
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28.

Interpret the given picture on account of current environmental
challenges.

‘act now before ilk\

y Ty :
Source:https://www.theenvironmentalblog.org/current-environmental-issues

29.

Defend or refute the following statement with valid explanation:
'Disguised unemployment is a common form of unemployment in
rural India '

OR
Critically evaluate the role of rural banking system in the process
of rural development in India.

30.

Compare and analyse the following information related to Imports
and Exports of the three neighbouring nations:

Country ‘ Exports from India (in ¥ Crore) Imports to India (in ¥ Crore)

[ 2004- [ 2018-19 | Annualrate of | 2004-05 | 2018-19 | Annual rate of
05 growth (%) growth (%)

Pakistan | 2,341 | 14,426 3.7 427 3,476 5.1

/| China | 25,232 | 1,17,289 2.6 31,892 4,92,079 10.3
i

31.

a) Name any one Maharatna Company.
b) 'Land ceiling promotes equity.' Support the given statement with
valid explanation.
OR
Discuss briefly, how institutional reforms(land reforms) have
played a significant role in transforming Indian agriculture.
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32. |States whether the following statements are true/false, with valid
arguments:
a) Human Capital and Human Development are one and the same
thing.
b) India has a poor stock of technical manpower.
33. |a) Define agricultural marketing.
b) Discuss briefly the importance of micro- credit programmes in
rural development.
c) Enlist any two problems faced by farmers in the initial years of
organic farming.
OR
a) "India has failed to implement the recommendations of
Education Commission of 1964-66." Give valid arguments in
support of the given statement.
b) 'Casual wage is the major source of employment in rural India.'
Defend or refute the given statement with valid reason.
34. |Read the following text carefully and answer the given questions

on the basis of the same and common under standing:

The green Revolution in India began in the mid- 1960s marking a
transition from traditional agriculture in India to high yielding
varieties of seeds and the associated modern agriculture
techniques. The need for Introduction of Green Revolution in India
arose due to a shortage of food- grains in the post - independent
period.

The government in the post independence India wanted to ensure
self dependence in terms of food grain production. Such efforts
coincided with the development of high yielding varieties of seeds
of wheat developed by Dr. Norman Borlung and his associates in
Mexico. These seeds also necessitated changes in farming
techniques such as the addition of fertilizers, pesticides and better
irrigation facilities. High yielding varieties of seeds were first
introduced in India in the states of Punjab, Haryana and parts of
Western Uttar Pradesh.

N
= |
<}

Economics-XII




In the early period of the green revolution in India, the focus was
to acclimatise the new system with the more resource - intensive
agriculture methods. The argument for introducing the new crop
varieties was to increase the agricultural production in terms of
higher crop yields. The seeds introduced during the early period of
the green revolution in Punjab were not high yielding by
themselves. These high yields were possible due to the seeds being
highly responsive to certain inputs such as irrigation water and
fertilizers.

The green revolution in India, thus necessitated a resource -
intensive process whereby, those who could make significant
capital investments could benefit , whereas, those others became
more marginalised in regions affected by practices of the green
revolution in India. On one hand, the results derived from the
green revolution helped farmers to increase their yield and income
and on the other hand, it helped the government to procure and
preserve more food grains through agencies like Food Corporation
of India. These good grains reserves were helpful in creation of
buffer stocks in India, which helped in the situation of adversities.

a) Why was Green Revolution implemented how did it benefit the

farmers?

b) Justify the following statement with valid explanation:
'Green revolution enabled the government to procure sufficient
food grains to build it's stocks that could be used during time of
shortage.

Economics-XII



	Premils.pdf
	1-99.pdf
	100-160.pdf
	161-208.pdf
	209-220.pdf
	Contents Economics Urdu.pdf
	blank].pdf
	looking around book _II Final.pdf
	Prelims
	Chap-1
	Chap-2
	Chap-3
	Chap-4
	Chap-5
	Chap-6
	Chap-7
	Chap-8
	Chap-9
	Chap-10
	Chap-11
	Chap-12
	Chap-13
	Chap-14
	Chap-15
	Chap-16
	Chap-17
	Chap-18
	Chap-19
	Chap-20
	Chap-21
	Chap-22
	Chap-23
	Chap-24
	Chap-25
	Chap-26
	Chap-27


	blank].pdf
	looking around book _II Final.pdf
	Prelims
	Chap-1
	Chap-2
	Chap-3
	Chap-4
	Chap-5
	Chap-6
	Chap-7
	Chap-8
	Chap-9
	Chap-10
	Chap-11
	Chap-12
	Chap-13
	Chap-14
	Chap-15
	Chap-16
	Chap-17
	Chap-18
	Chap-19
	Chap-20
	Chap-21
	Chap-22
	Chap-23
	Chap-24
	Chap-25
	Chap-26
	Chap-27


	blank].pdf
	looking around book _II Final.pdf
	Prelims
	Chap-1
	Chap-2
	Chap-3
	Chap-4
	Chap-5
	Chap-6
	Chap-7
	Chap-8
	Chap-9
	Chap-10
	Chap-11
	Chap-12
	Chap-13
	Chap-14
	Chap-15
	Chap-16
	Chap-17
	Chap-18
	Chap-19
	Chap-20
	Chap-21
	Chap-22
	Chap-23
	Chap-24
	Chap-25
	Chap-26
	Chap-27






